AEE (BEH. 4RER)

h =

(EREM LI, F5MAEAR)

(BRI, EhiEAHE) EERE
BRI E =il
= 2 EEeal |
I MHETE |wmose-mm=s |wEme  [COEOW S - LA
=W -Sa Ak Ik T O . Ix ) - B TE
i A En A Xma (Ca?)
(kg m) cm? (cm4) {cm) {cm3) {t-cm) (t)
A [ [-150%75%9 v 240 30.6 10500 5.86 140.0 336.0 448
B |L-50%50%6 hd 4.4 564 12.6 1.5 3.6 85 8.7
C | [-150*75%9 i 240 30.8 1050.0 5.86 140.0 336.0 65.0
<EFIE> Fv
* BEHOAD 2
HETREIKERM] Kh= 2
BEPEEIMERTE] Kv= 1
BRHEES(RERE) LX= 350
EHESEERFE) Ly= 200
HEHES h= 100
EERE o2= 6
TLAKS 3= 2
R @t= 3
T Ry VAR Hg= 166
HeEs WM= 3000
EomAE w = 2.73
TLAMARBER ¢= 1.5
" i8 b= 5
IKEFLBEHERE Fh=KhxWM= 6000.0 - t= 06
SREAIETRIE Fv=KvxWM= 3000.0 RS U n= 3
BT — Ak M=FhxHg 996000 ERRILE M= 16
MB =M+Fhxh= 1596000
I OHE
AT FEHEA NC=MB. (o txLY)+WMx(1+Kv)/ o 2= 3660.0 < 72171 (=Na' kg)
B# 3lsEH NB=Fh/{ @ 3xcos 8 )= 33541 < 7785.6 (=Ta' kg)
C# (E BBl ERERE Zyl)
(&5 ) Zy1= (wxbY 2% (1+Kv)) / (8%fb) = 11.4 < 140 (=Zx om3)
Zy 1=((WNMH(1+Ky )/ 2% 1Y)/ (4%fh) = 62.5 < 140 (=Zx cm3)
CH (E D EWr i RE 2x1)
(55 Zx1= (wLX " 2% (14K y) ) / (8%fh) = 34.8 < 140 (=27Zx)
Zx A =((WM(1+Kv )/ 200X}/ (4%fb) = 109.4 < 140 (=2Zx)
257 (kg)
g5l45 0 Ft=MB/( & 1xLY)-Wmx(1-Kv)/ o/ 2 2660.0 (kg) ERERIL N7 h— R HE
RILM AR Y -YBIERED 886.7 (ke) M Blikh | EAMS
0K 16 1220 | 1870
HAHTH Fs=Fh/ @2 1000.0 (ke)
RILM ALY YA D 3333 (k)
0K
M- 16 3 () ICTEHOE <&£FX%- 18 (X)) >
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